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system”. Discuss. ,y//‘/ z% 3)
2. What is Income Elasticity? How goods can be categorized on theé’oasﬁ é’f/@% 2
3. Differentiate between: G, %, g (2x1.5=3)
a) Trend Projection and Seasonal Variation Y,
b) Delphi method and Expert opinion K :

%,
U,

4. An investigation into the demand of TV seg in, théf/zfol/owmg satellite towns has supplied the

following data: G, A &)
Town Population(* OOO) %, [“Détaand for TV sets (‘000)
A 20
B 38
& (8
D 40
E 45
F 22 < 40
Estimate the numbef;of ’I‘V séfs,demanded in G town with a population of 30,000.
. e,/
5 A mu1t1phcatw/¢c&fﬁeg1ancf ﬁﬁc’uon of the form is estimated using the cross-section data. ©)
/%4,,,@ ’y%// ) = BPapIa;Pao
The res ts are asio ows:
Variable
Constant (B) | Price (P) | Income (I) | Price of Other Good (P,)
! }_mlated Coefficient 0.02248 -0.2243 | 1.3458 0.1034
-} Standard error 0.01885 010563 |1 5012 0.8145
| Number of observations | 224 R 0.2515

Interpret the above equation at 95% confidence interval. (t-table is given at the end of the question
paper, on next page)

6. The big six corporation has determined the following total cost function. )
TC=170-220+ 150
At what total cost the marginal cost is minimum?
P.T.O.



7. Explain and illustrate with a graph, the three stages of production. ()]

8. In acompany, the relationship between output and inputs, namely, permanent labourers and contract
labourers, is as follows:
Q=20PL - PL?+ 12 CL — 0.5 CL?, where, PL is permanent labour and CL is contract labour.
The hourly wage rate of PL is Rs40 and that of CL is Rs 20. (2x3=6)

a) The production manager recommends that 6 PLs and 8 CLs be hired. How mﬁg units of
output are produced using this combination of inputs? f

b) Is this combination of inputs efficient? If not what is the efficient combmat% f mputs to
get the same output? %

¢) If the budget for labor is Rs 5000, how much of each type of Iaboﬁ%sbouélg\d gle company

c/fz/% & @/

hire?

t-table:

e



